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1. FE -1 g - 1 Ty ghtea S @ gl o e ey T e | wE I g |

WE - T -1l
I (o) (Fiirenes ST
a. 392 50 |. Treate 9 HEThEm
b. 3= 143 I1. =ararfern i SRR & o gaahT
c. 3T 61 I, 7R BT ET T HE
d. 37=ug 320 IV. HaTed A i HATEH SR
T
(A) a=Il b-1 c=W d-—1
(B) a—Il b-IV c-I d—1l
(C) a-ll b=V c-| d-1i
(D) a-ll b=l ¢=IV d-Il

Match List — | with List — Il and select the correct answer from the code given below the lists.

List—1 List-1I
(Article) (Constitutional Provision)
a. Article 50 |. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive =L
c. Article 61 Il Functioning of Public Service Commission =
d. Aricle 320 IV. Advisory Juﬁsdictiu_n of the Supreme Court
Code:
(A) a=1Il  b-I c—IV d-
/gaf a=Il b=IV c-I| d -1 .
(C) a-Wl b=IV c-I d—1i
D) a-M b=l c=W g—j

m2d
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a. WS Torett
b. SR ST STIM
c. saEanas fa
d. Mg faaE
3 fo o e H F WA IR G
ETA
(A a-1,b—1V,c—Illl,d—1l
(C)a-l,b=IV,c—1l, d-Ill
Match List — | with List — Il
List-1
a. Teacher education

b. Technology use
. Professional education

d. Adult education

Il.
Il.
IV.

l.
I.
1.
V.

GET IT ON
Google Play

ot - I

.31, 2020 1 FHAE 23 _—
<1}, 2020 1 T 20 Sl
iy =i

w7 3.l 2020 FT A 21
3.0, 2020 1 IFEF 15

(B) a-IV,b=1,c=Il,d=1l
(D) a—IV,b=1c~l,d—1i

List—1I
Chapter 23 of NEP 2020

Chapter 20 of NEP 2020
Chapter 21 of NEP 2020
Chapter 15 of NEP 2020

E:I Choose the correct answer from the code given below :

&Cnde:
(Aya-Lb—=W,c—=l,d=1l
(Cya-Lb=1IV,c—Il,d=1lI

®) a—IV,b—1l,c—I,d—1I
D) a—IV,b—l,c—lil,d=1ll

3. 2005 T WY B T TR I I 923 18 ? Y
(8) S TETETR ¥ wifd wenfdd

(A) TEETTiE guer @1 FEba &

What is the primary purpose of Kyoto protocol which came into effect in 2005 7

(A) To regulate ocean pollution

{C) To reduce the emission of greenhouse gasses

A. m+20'ﬂ§fﬂ-ﬁ'ﬁiﬁiﬁ§ﬂﬁﬁw?‘ﬁmﬂ% ?

(A) T=EEm [
(C) T Hrzqo

Rio + 20 is mainly ralated to which of the following 7

(A} Population corntrol
(C) Forest protection

HTA W S & e fewa @7
(A) BEFm M ug Zenard el
(C) Trarawem srgpram va . 3.
Who established FIGGI In Indla 7

5.

{A) Mahatma Gandhi and Dadabhal N“"g”
andJ. R L

1) Purshottamdas Thakurdns

). T

(D) AfTaes Fre FA FAAT

(B) Establish peace in the pacific ocean
(D) Create a global carbon market

el feemra
Haq =

(B)
(D}

Economic development
Sustalnablo developmeant

(B)

i ﬂ
—16)

(D}

N, . fergen ua S5, 3m. @A,z
WM argagrn va it #. fasen

G, D. Birla and J. A. D, Tala
Purshohlamdas Thakurdas and G. D. Birla

(")

Taoln (D)

e ]
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fem @ 7 .
(A) FITOTHL (B) THETAT (C) mEmTg ) AT
Madhav National Park that was declared India's 58™ Tiger Reserve is situated in which of the following
States ?
(A) Manipur (B) Meghalaya (C) Maharashtra (D) Madhya Pradesh
7. ﬁmﬁﬂﬁﬁﬁﬁﬁﬁfﬁ2024ﬁﬁaﬁﬁﬁ§mﬁﬂmﬁﬂﬁﬁmw ?
(A) T T (B) WET X
(c) frgm fegral _4Bf 3m | g
Who among the following was awarded the Nobel Peace Prize 2024 ?
(B) Mother Teresa

(A) Malala Yousafzai
(D) Aung San Suu Kyi

(C) Nihon Hidankyo
o Frefafan 3 @ B wad wig {5 TR 7
1, 9T AR

%}Er@ 2. dig qTa0
feqifre 3 Ty e fegiiredt @

EEY 5 e i felt of
#r9 few 7T e W Wel IR T hifag :
C T4
(A) Fae 2 33 (B) e 1 *c}/ﬁﬁFﬁ'uﬁtz (D) e 1 3 3
g are the best known capital markets 7

Which among the followin

1. The stock market
dia

2. The bond markets
3. A depository account with any of the depositories in In
Select the correct answer from the code given below :
Code :
(A) Only2and 3 (B) Only 1 (C) Only 1and2 (D) Only 1 and 3
9. EHK aid wﬁmmsﬁnﬁﬁmm%eﬁg@'ﬁ: wzﬁmg
(A) FHfzaran BERe AB) m*mm £l
(C) HfFaram FFEeIE (D) HHIFE ‘F“'FEFE:’ EyE
Our tooth crown remains capped with hard enamel which 18 pr_mﬂrpa y made of ﬁﬁﬁ.‘:
(A) Calcium Phosphate * (B) Calcium Carbonate
(C) Calcium Oxalate (D) Magnesium Phosphate
) < . - forT W1 ITA B 7
10. aﬂfwﬁﬂﬂﬁﬂiﬁQPUHAqﬁﬂmﬁmﬁ%ﬁﬂﬁW -
(A) U, . S, 37egH eI (B) “’*’f'ﬂ;'ﬁﬁ 3
(C) el 5 (D) 3_ “dﬂa:w' gl
' ... the brain ¢hild © .
PURA approach to economic development IS, } \yanmohan Singh
) None of the above

(A) A.P.J. Abdul Kalam
(D

(C) Amartya Sen
R
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b, T 1 FETH ITEEN H 8 | E%ilil:
| ¢, TS A1 S T WA e At § |
¢ B 78 T % eifeT 7¢ H ITE Heww A B |
:ﬁ-—éﬁuﬁﬁm&ﬁﬁﬁaﬁmgﬂq:
(A) %9 a, c,d Amabc (C) e a, b, d (D) @ae b, c, d

T

a. The Ganga river system is !argast in Ind} ja.;

b. Ganga rises in the Urtarkashl ) o . | ‘ R
c. Satluj and Jhelum are irlbutan‘ ""'of Gaﬂga,system =) = 2 s :
d Son river is |ts rnajcrr nght b&ﬁk trlbutar}blhﬁanga

With reference to river Ganga dramage system W‘htch ar the fullawmg statements are correct ?

np—'.u—ﬂn'lé I

g

{D) b, ¢, d only

._ ' ”ﬁ E“il%ﬁraﬁ et
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(B) &= mrumiur-:mx.:ai'tnf
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(A) ETEZA ) &R
(C) TR HAISFHIES ) BITdH
i i snhouse gas ?
Which one of the following isagre
) Methane
(A) Hydrogen : |
(C) Carbon monoxide (D) Helium
16. t_?maﬁﬁﬂfaf'@ﬁﬁéfmimﬁﬁm% ?
(A) WTLd (B) aTATET SR UETIES
Khyber Pass is situated in which of the following countries ?
(A) India J,Bﬁ’!angmdesh (C) Pakistan

b %
17. SEE 1firFan gewy gem fuffa 2
The maximum number of members in the Lok Sabha is fixed at
(A) 550 (B) 530 (C) 552

18. ﬁﬂﬁaﬁaﬁﬁﬁﬁaﬁwﬁmﬁmmuﬁmﬁmm ?

(A) T T BEEEE
(C) Tar faaFm=< (D) 9 H / FI$ TE
Who among the following propounded the concept of Integral Education 7
~(A) Swami Dayanand (B) Sri Aurobindo
\/{G} Swami Vivekanand (D) None of the above

19. ﬁtrﬁaﬁaﬁﬁnﬁamzuzﬁ'mm‘ﬁmﬁﬂﬁmw ?

p. Tl = &

c. Y11 ATH

d. Ermada e

Fra feu o Ryeredi § & W I AT

(A) ad a,bd ¢ _/(Bf‘maa (C) Fa<i a,b 9 d

Who amang the following has been awarded 'Bharat Raina' in 2024 7
vE a. M. S. Swaminathan
:dt:;y‘.; b. Chaudhary Charan Singh
O fet% :
¢. Karpoori Thakur
d. Harmanpreet Singh

Choose the correct answer from the options given below :
(A) Only a, b and ¢ (B) Onlya (C) Only a, bandd
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(D) e

(D) Bhutan

AD) 545
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(D) ael ad b

(D) Onlyaand®
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aﬁfﬁ#mam‘mmaﬂﬁw |, e - 14 Dt
" 35 T o NG § . g - 15
. e @ gAd ., 3gel - 16
4. svegeddl &l 3 IV. 343@ -17
CIA
ay a-t  b-m =W d—1l
B) a-| b—1l c-=1l d—1IV
() a=1l b-I c— 1l d-1V
(D) a-| b-m c-ll d-1Iv : i
Match List — | with List — Il and select the correct answer from the code given below the lists:
List—1 List - 1l
ypes of Rights) | g:?'ﬁ;? 14
a. Rignt of equality before the law j ' !EI L
b Protection from discrimination on religious ground III: iﬁ;«ing g
; f ni ' : &
c. Equally of pporiu’h W, Aticle —17

d. Abolition of untouchability
Code:

) a=1 b=l c=lV d—Il
/(B}' a-1 b= c=ll d-1V
€ a-it b-1 c-ll d-1Iv =
) a—=I b=l c—Il d-1IV .
21, 1857 fagTe & e 5\
a. THI ® e
b, TS Y194 —
c. FEEL e AR J
d. i fram 3t —
) fou T ferepedi § @ WE I gfe : :
(A) F9€ d, a, b (B) Fad a. b, ¢ ~(C) ¥ c, d. b b, c, d
Main leaders during the Revolt of 1857 s
g a. Rani Laxmibai )
:ﬁﬁﬁ b. Mangal Pandey
k¢, Bahadur Shah Zafar
d. Mir Nisar Ali -~
helow :
Choo rom the options given
i uﬁﬁa lr;iac::;_l:ect answer {r;l)'" o B, OO al ~ 1 (C) c,d,bonly (D) b, c, donly
2. mimawﬁﬂwﬁﬂmm-ﬂ:ﬁmﬁ;? D) IEWEA
i:*) wHITg () ® ad In which of 1he following States 7 o
hadel Wildlife Sanctuary 13 loca ho 1(C) Goa
rados (D) Uttar P
| (A) Chattisgarh M adhya P s ) Uttar Pradesh
» 71
|
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23.

et 8 1 T T T AR G ST TRg (NAAC) ST ST I &
(A) I fen TRl o WA (B) Bl =1 farcfia werEar WeH
(C) Feurl H Ze i o fafE () Favafiemem waw wan @R 6

&' Which one of the following is the primary focus of the National Assessment and Accreditation |
ch ) = ;
Gl (NAAC) in India ?

24.

25.

26.

(A) Accreditation of higher education institutions _/.%B)/F"mviding financial aid to student
(C) Regulating tuition fees in institutions (D) Conducting university entrance exarr

frafafa § 3 B9 1 S0 Ta1 Hiede W 7S % i g § o ?

(A) TG Fe (B) WeTeHn mHh

(C) W1 3T HTH TG — (D) TR & ITE

Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Sardar Patel '_’,(—B) Mahatma Gandhi

(C) Maulana Abul Kalam Azad (D) Jawahar Lal Nehru
‘Fifanfeg yuE’ feafafga 3 4 g ufom 2 ¢ .
(A) argavsHE g ey - (B) WEMEITE TR
(C) T I TR e (D) T 1 A
‘Coriolis effect’ is a result of which of the following ?

- ’Atmosphan'c pressure differences (B) Ocean currents
(C) The gravitational pull of the moon (D) Earth’s rotation

e — | % e — 1| gfw Ao ghw & 9 g TR @ W I H T AR |
-1 g -l
(=) (i Tem)
a. TSH . AT U I -
b. TeETE 1. fom asf ot F@E
c. 31" . Zgred] Uiy I
d. Tewreer wem V. Shaemed T ITH
ga-m.b—w,c—:,d—u @) a-IV,b=ll,c=ll.d-I
(C) a=IllLb=IV,c—Il,d-I (D) a—lV.b—llI.c.—Ld-—ll "
Match List — | with List Il and select the correct answer from the code given below the fists.
List—1 List—1l
(State) (National Park)
Rajasthan I. Manas National Park
Chhattisgarh Il. Pin Valley National Park
Assam Il. Indravati National ParK
d. Himachal Pradesh IV, Keoladeo National Park
Code :
(A) a-llLb=IV,c=I,d=1l
(Cya=1l,b=IV,c=Il,d=I

0

QRO

(B) a—Iv,b=Ml,c=M,d=1
(D) a-Iv,b=1l,c=1,d=ll

e, 1L
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(A) T I foren @ cETE

(C) FETA H FE @IS Ta e

in NEP 2020, ECCE stands for

(A) Enhanced Childhood Caring and Education

27.
(B) Wi FeraE & @ 3 e

(D) qrifires F=9T iaa faE

(B) Early Childhood Care and Education

(C) Efficient Childhood Care and Education (D) Early Childhood Centered Education

28. mzfzozsﬁgﬁmﬁrf%ﬂﬁﬁmﬂqﬁweﬁﬁammﬁaﬁmwm% ?
;,B)/ﬁ?fﬂzaﬁat. . (C) 94 fa@Hi (D) St A

(A) S
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 7
(A) John Glenn (B) Victor Glover (C) Butch Wilmore (D) Jeremy Hansen

29, Trmfeifiga # @ Fr-w/d T SEE i, 2000 I 2/2 7
OpORRE 2045 TF FHEEAN FEU T |

Ei.ﬁ, 2. T Fegel i 1ounnusﬁﬁﬁmut1nnﬁﬁm I

. Ru e e A T IACH 9E AT -

e =
B (A) 1 3R 2 gH 7(B) F 1

Which of the following is/are the objectives uf Natmnal Population Palicy, 2000 ?

1. Population stabilisation by 2045. 4
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.
Select the correct answer from the code given PE‘OW :

Code :

(A) 1 and 2 both (B) Only 1
(C) Neither 1 nor2 (D) Only 2
0. ‘7 frema’ w1 faam fma syfeea H FEL 7

(A) 1980 - (B) 1972

(C) 2007 _ (D) I § A g 780 |
In which year did the Idea of 'Sustainable development’ came into existence ? E%E
{.ﬁ) 1880 (B) 1972 =] é?

_Jg’km? (D) None ol the above
0 73
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S1. Ans. (B)

S2. Ans. (B)

S3. Ans. (C)

S4. Ans. (D)

S5. Ans. (D)

S6. Ans. (D)

S7.Ans. (C)

S8. Ans. (C)

S9. Ans. (A)

$10. Ans. (A)
S$11. Ans. (C)
S$12. Ans. (B)
$13. Ans. (D)
S$14. Ans. (C)
$15. Ans. (B)
$16. Ans. (C)
$17. Ans. (A)
$18. Ans. (B)
$19. Ans. (A)
$20. Ans. (D)
S$21. Ans. (B)
$22. Ans. (C)
$23. Ans. (A)
S$24. Ans. (D)
$25. Ans. (D)
$26. Ans. (C)
$27. Ans. (B)
$28. Ans. (C)
$29. Ans. (A)
$30. Ans. (D)
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